H £ 0l & AF & S

Al A

SA ARSI
M LSS MBOY NY(AISNIIZLEEE)
o IR ZMETE (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Arel S X110t 82,132,463 77,988,103 4,144,360
= 44,045,260
Jl 1,632,545
= 10,521,345
Al 25,933,313
NASE deoty XA (ARSI Z4e2E) 8,400 8,816 A416
EPIESL L b, 8,400 8,816 A416
AISXEY 29 8,400 8.816 A416
202 04| 2,400 2,816 A416
01 SLHoIH 2,400 2,816 N416
OMEI=X ez
100,000 x2ZH 22 +63] 2,400
203 HR=AH] 6,000 6,000
03 A= PR F&IH| 6,000 6,000
OALEI= X ARS8 5,000,000 5,000
OAtel=A H3 =& 1,000,000 1,000
AZIEX] D18 2 (A SXI/AEI S X128 2,363,585 61,680 2,301,905
= 11,610
Al 2,351,975
NS Atel=Xl Jlgt A5 2,363,585 61,680 2,301,905
=S 11,610
Al 2,351,975
ABISXAY 2 243H04d) 83,500 58,500 25,000
== 10,000
Al 73,500
307 212+01& 78,500 58,500 20,000
< 10,000
Al 68,500
02 LB HAHE L 6,000 0 6,000
OWdsd It & U= 6,000
03 2N EE=2SHIE X 2,500 2,500 0
OWdHHE s 28 BX 2,500
04 QIHHAMAIH 2 £ 70,000 56,000 14,000
OB H=cl JtM 50,000
oEH% M2l JIRM 20,000
< 10,000
Al 10,000
o el JMI(XHA) 30,000
ogdgsiizl 20,000,000 20,000
405 AtatE=H 5,000 5,000
01 TR =S FSHI 5,000 5,000
O EHHAIRA HIS 7
5,000,000 5,000




2A:

X XH -
o=

AtS| S X1t
ABIS X D18 2 (AL SXI/AEI SR8
5] =

=l XS Atel=X Jg A= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ARISKIAIE SAHAL o228 X 3,220 3,180 40
= 1,610
Al 1,610
301 EtE N = 3,220 3,180 40
= 1,610
Al 1,610
02 AR 2HHSFS(HAAS, XNLHE) 3,220 3,180 40
OAIRISXIAIE AR &ollEE X
3,220,000& 3,220
== 1,610
Al 1,610
EHEHAISXITHE £ 2,276,305 2,276,305
306 £= 2,276,305 2,276,305
01 9= 2,276,305 2,276,305
OEISAI=TI TS Z012
2,276,305,000& 2,276,305
LOIIAXZO0IE =9 560 560
301 EetE2 N = 560 560
11 #AIAHIXIE = 80 80
Ozt=al JH= 40,0002 22 80
14 JIEt2 8= 480 0 480
0024l AlE SEY)
20,0008 =2 * 122 480
Lol EX EX(AE=R/ 0l - HAH) 56,312,889 52,026,713 4,286,176
= 36,962,079
Jl 400,279
[ 3,751,530
Al 15,199,001
LOISEXIAMEIA R 54,636,810 49,625,493 5,011,317
= 36,494,439
Il 400,279
= 3,446,982
Al 14,295,110
colgxiel & AR ESKIRAY 13,786,188 10,443,083 3,343,105
= 6,893,094
& 1,313,543
Al 5,579,551
307 glztol & 13,786,188 10,443,083 3,343,105
= 6,893,094
< 1,313,543
Al 5,579,551
11 AMEISXAEEES 13,786,188 10,443,083 3,343,105
Okl Xiel At 13, 135,428,000 13,135,428




SA SIS
A Lol SR BN(MEISX/ =l - HAE)
ol == XIAEIA X (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 6,567,714
=S 1,313,543
Al 5,254,171
O+8J12 9T 2|
650,760,000 650,760
= 325,380
Al 325,380
(SUE)00MIAICH o241 LXtel At (=1) 562,508 561,878 630
) 281,254
Al 281,254
307 @12to| & 562,508 561,878 630
Il 281,254
Al 281,254
11 AR SXAIEE X 562,508 561,878 630
O(SUE)100AIAIH G2 AL R2] AP
532,460,000 532,460
Jl 266,230
Al 266,230
O(SAUE)100MAIH oi2aIdRtel Al g€
A+ el2ig| 29,580,000& 29,580
) 14,790
Al 14,790
O(SAUE)100MIAILE 282l AtY 82
Bl 468,000 468
Jl 234
Al 234
ceI=X g8 3,400 3,408 A8
201 er23| 1,800 2,000 A200
01 Al 22| 1,800 2,000 A200
OLQI=X B 2t 282 U 40 HH
1,800,000 1,800
202 04| 1,600 1,408 192
01 =LHOLI 1,600 1,408 192
OLQI=X g
100,000 x4 * 12 +43] 1,600
o= 2892s 29 420 420 0
201 er2&| 420 420
01 At2teltl 420 420
OLQI=TII3 2 BHLY
70,0002 x3E*13] 210
oI NE HoRRs EH+d
70,0002 x3E*13] 210
COISXIAE RIE 3,000 3,000
301 EtE NS 3,000 3,000
02 AR 2EH LGS (HAAS, NLWE) 3,000 3,000




SA: ASI=XID
A Lol SR BN(MEISX/ =l - HAE)
oelr LSXIAMEIA X2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=SI(HE)AE 22
500,000 *37H 2:+23] 3,000
225 Lol 925 594 54
301 EtE2 NS 594 54
02 MR 2HHLFS(HAAS, XNLHE) 594 504
ORgEs H=2d A= 5%4
o2& 50,0002 x3F x2 300
SE=E] 8,000 x3& »34!x2& 144
o lUl=H 50,0002 3% 150
JI=g=s 30,980,653 28,925,764 2,054,889
= 27,882,588
= 619,613
Al 2,478,452
301 EtE N = 30,980,653 28,925,764 2,064,889
= 27,882,588
[ 619,613
Al 2,478,452
01 AR 2EHSHS(RNEERTHE) 30,980,653 28,925,764 2,054,889
(OFJESI= NI, 30,980,653,000& 30,980,653
= 27,882,588
== 619,613
Al 2,478,452
geolegd A2 1,200 2,400 21,200
= 240
Al 960
301 LEN= 1,200 2,400 21,200
= 240
Al 960
02 MBI 2HHLFS(HAAS, XNLHE) 1,200 2,400 1,200
O&+=g XNz 20,0002 x5 122 1,200
=S 240
Al 960
== AREN T2 K& 93,940 81,650 12,290
< 22,646
Al 71,294
307 glztol & 93,940 81,650 12,290
= 22,646
Al 71,294
04 CIZHHAMALH 2 & 7,120 0 7,120
ozd Au=ss XA 7,120
10 AlISAAZEE 22X 26,820 81,650 AH4,830
Ooud & ZZ2UHs 23X 13,230
s 2,646




SA: ASI=XID
A Lol SR BN(MEISX/ =l - HAE)
ol == XIAEIA X (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,584
Oolnal & J208 2SR (XHA) 13,590
11 AMEISXAEEES 60,000 0 60,000
Okolsl 228 2I X 40,000
= 20,000
Al 20,000
Oatt=t K& 20,000
MBISTIANE ABISReY X3 (HEAY) 505,509 400,633 104,876
301 EtE NS 505,509 400,633 104,876
0 MSRREEYS 505,509 400,633 104,876
OAtzl=22&d XIE 71,560
SAR =223 SAH|
8,000 36 *21L «12& 70,560
OMNIERRA BAMABEH It
1,000,000& 1,000
OA =223 20 433,949
oMNESRRF Q2| 399,000,000 399,000
oMeER23 WSH|
3,400 x36E *21 &+ 122 29,988
oM=ERL3 1I=HI
330,720 %159 4,961
2 RaaH 206,278 206,278 0
== 15,000
Al 191,278
307 212+01& 206,278 206,278 0
< 15,000
Al 191,278
11 AMEISXAEEES 206,278 206,278 0
OZ=2AY RESA(XH) 176,278
OZ=2Ag REa4 30,000,000& 30,000
= 15,000
Al 15,000
NAS T AAHHE AL 240,750 200,750 40,000
[ 20,000
Al 220,750
307 lztol & 200,750 200,750
11 AMEISXAEEES 200,750 200,750
OMAS MIt=Ql AAIHE
5,500 *1002 +365& 200,750
402 2IZtA=01d 40,000 0 40,000
S 20,000
Al 20,000
02 QI XHE AL E R (01X THE) 40,000 0 40,000
OMIt=el AMAE == XHEuX 40,000




SA: ASI=XID
. Lol X S (AMIEX/ L0 - HAH)
= LeIsIIAblA XIJ (Cre|: ®M2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 20,000
Al 20,000
22Y 29 g4ds I& 167,458 158,79% 8,662
& 28,288
Al 139,170
201 LBt2AY| 12,128 6,008 6,120
01 A=R2teld| 12,128 6,008 6,120
OZ2Y 2% 43t 12,128
od2Y 29 ADE FA(EH=D], =%
=+ 8) 3,000
od=z2Y L& S ui 1,750
oZSTA RS (5E X, 751m) 3,378
oflE & A BZ2Y OlAtHI 4,000
305 Hial=s 2,621 2,621
01 Hha32S 2,621 2,621
OY=Z2Y IR &R HAZ 2,621
307 2I2+01 A 152,709 152,788 AT9
& 28,288
Al 124,421
11 AL SXAMEES 152,709 152,788 AT9
Od2Y =3 T2 8 2A2|(XHH) 6,125
oARAE LH X 2,825
oxz )z X& 3,300
Od2Y =3 Z23y &2 105,000
T 21,000
Al 84,000
Od2Y &3 Tz )& 22| X3 36,438
& 7,288
Al 29,150
OZ2Y =3 T2y 2| XX (XHA) 5,146
a2 29 NI& 536,500 419,643 116,857
= 69,286
Al 467,214
307 212+01 A 536,500 419,643 116,857
& 69,286
Al 467,214
11 AL =SXAMEES 536,500 419,643 116,857
Oo3z2Y 22| 346,433,000& 346,433
T 69,286
Al 277,147
OZ2Y 298I(XHAl) 190,067,000& 190,067
MO IR A MY A 2H X R, 746 135,116 A42,370
307 2I2+01A R, 746 135,116 A42,370




SA: ASI=XID
A Lol SR BN(MEISX/ =l - HAE)
oelr LSXIAMEIA X2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 83,756 128,076 AN44,320
ORI A 2EXIR (21 24H]) 74,516
=JlEZs(28) 59,979
c&0iz(29) 1,200
cEAMYS(2F) 6,19
oABEEZ(2Y) 7,138
O=gH| 9,240
1 AMISXAIEEXS 8,990 7,040 1,950
Ot QI M A (RID]122]) 3,500
OMIH-QIXAMEIA(SS01) 5,490
INRALE SHNE(HES) 3,633,667 3,543,934 89,733
S 1,009,275
Al 2,624,392
301 LEtE NS 3,633,667 3,543,934 89,733
= 1,009,275
Al 2,624,392
02 A2 XSG (FHAAHS, NSWE) 3,633,667 3,543,934 89,733
OAIE20 XM=Y S
1,939,910,000& 1,939,910
=S 969,955
Al 969,955
OMIIEH XAHMEES
1,615,117,000& 1,615,117
Oss2l 2aga N3
78,640,000& 78,640
= 39,320
Al 39,320
AT EQISXD2 SAEL HRME =ZX& 7,200 5,400 1,800
& 1,440
Al 5,760
307 elztol & 7,200 5,400 1,800
= 1,440
Al 5,760
11 AMEISXAEEXS 7,200 5,400 1,800
oS MM =g
150,000 x4 = 1200 & 7,200
= 1,440
Al 5,760
Colgkel #E 2l A 36,086 37,036 A950
307 @I2t01 & 36,086 37,036 A950
11 AMRISXAEEES 36,086 37,036 A950
OelgTtelAlY 29 rA81(19) 36,086
SHSSEML SSATMAHIA 2R 243,001 209,188 33,903




Lol EX EX(AEIEXI/

A ARISX

o™

XY ZH +

od
i’
o
uJ

#

EOISXIAMEIA X

el

-

KIO

Hlw

33,903

33,903

14,356

11,356
8,200
3,156
3,000
3,000

3,726

A3,160

MEE
Ofl &k2h

209,188

209,188

132,000
132,000

241,311

109,311
109,311

27,304
6,160

6,160

Ofl &F2H

119,025
23,805

100,261

J|

W

119,025
23,805

243,091
100,261

Al
Il

H

243,001

Al

5,040

238,051
119,025

23,805
95,221
255,667
132,000
132,000
132,000

J|

iy

6,000
126,000
120,667

Al

8,200
8,200
112,467
87,447
68,230
6,823
6,255
6,139
25,020
3,000
3,000
3,000
31,030

- ESS

- SRA(E) - HIRAY

S LRE-L

307 212+01&

oF

&

KJ

=

500,000& «1H*12&
100,000 * 105+ 1204 =

s

14 J1Et
OXISS AN

KO
o}

.

00

R0
0

3(2Y)

BI(1OHA)
b ]
01 Xpatsd

OO
um

405 Xt

307 212+01™

2

Jb X

+

__.AD

0
ok
&
il

7

H

23,160
6,886
5,000
1,886

21,144
21,144

3,000
3,000
3,000
28,030
5,000
5,000
23,030
15,010

OatH o=

307 212t01&




SA: ASI=XID
A Lol SR BN(MEISX/ =l - HAE)
ol == XIAEIA X (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ3 e &l AHoIE=U2 1,380
O1-3MtHSZ el (st2U3l) 2,220
ORAHERHAS] 1,000
OEISAl Z2E AHIIRH
3,420,000 3,420
J2g 4.t & =4l 290,600 269,280 21,320
= 125,400
== 37,620
Al 127,580
301 2eEN= 48,320 50,880 A2,560
= 6,760
=S 2,028
Al 39,5632
01 Al EE A S(FREX) 48,320 50,880 22,560
OZ2¢ 2=l 13,520
= 6.760
= 2,028
Al 4,732
OZ2g 2=4I(XHA) 34,800,000 34,800
307 212+01& 242,280 218,400 23,880
= 118,640
=S 35,592
Al 88,048
1 AMISXAIEEX 242,280 218,400 23,880
OZzg d.uaH N2 237,280
= 118,640
= 35,592
Al 83,048
O Letdl XA (KH)
5,000,000 5,000
COINESSANHIA SAEL 2SEX X 185,400 156,600 28,800
= 55,620
Al 129,780
307 elztol & 185,400 156,600 28,800
= 55,620
Al 129,780
1 AMEISXAIEEXS 185,400 156,600 28,800
OLQIRESSHUIA BAX BERE 2+
185,400,000& 185,400
== 55,620
Al 129,780
T00MIAICH, H2 AL RFeIAFS (&HI) 2,400 2,400 0
= 1,200
Al 1,200




SA: ASI=XID
A Lol SR BN(MEISX/ =l - HAE)
ol == XIAEIA X (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 212+01& 2,400 2,400 0
& 1,200
Al 1,200
03 2IHHHEE2SHIEX 2,400 2,400 0
OF AN AME &SHl X2
200,000 x 122 2,400
= 1,200
Al 1,200
LIRS ESMEIAAY 2S 2,289,665 2,127,547 162,118
= 1,593,357
= 136,572
Al 569,736
307 @20l & 2,289,665 2,127,547 162,118
= 1,593,357
= 136,572
Al 559,736
10 Al SXAIEEHE2EHI2x 2,147,926 1,986,407 161,519
O QI ES=SAHIAAIY 2124 2,134,486
= 1,494,140
< 128,069
Al 512,277
OLoIXESSMEIA BSAX MLXMSHI (X
H) 13,440
1 AMISXAIEEX 141,739 141,140 599
OLIXESSMEIAAE ARSI 141,739
= 99,217
= 8,503
Al 34,019
NAS ES0EA BtA = J12I] At 30,000 30,000 0
201 fet=3| 9,000 9,000
01 AtR2t2|HI 9,000 9,000
O23 Z2dl BHeAM = JIRIIAME 23
1,500,0002 x6H = 9,000
206 MH=HI 21,000 21,000
01 MHZH| 21,000 21,000
ES 028 BHAAE JIRIIME M= #
24l 3,500,000 600 = 21,000
=S Mole SS012LHY 29 X2 37,355 40,755 23,400
308 AtAIEHMSOIE 37,355 40,755 A3,400
18 SISt AS A 37,355 40,755 13,400
Os30=%dey =24 37,355,000& 37,355
LRISXAE SN =X+ 312,185 416,820 104,635
< 62,437




SA: ASI=XID
. Lol X S (AMIEX/ L0 - HAH)
= LeIsIIAblA XIJ (Cre|: ®M2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 249,748
307 212+01™ 312,185 416,820 A104,635
T 62,437
Al 249,748
10 Al = XA EHE2FHIE X 312,185 416,820 A104,635
OLQISKIAIL BARE =X4g
312,185,000& 312,185
= 62,437
Al 249,748
MOt X2 MBIA(HEAEASH) 2HXA 101,320 0 101,320
& 30,397
Al 70,923
307 212+01™ 101,320 0 101,320
T 30,397
Al 70,923
11 Al =SXAMEES 101,320 0 101,320
OMIL=CIXIZMEIA (028 HASEH) 2
g 101,320,000& 101,320
= 30,397
Al 70,923
LOISXIAA D8t &5 691,280 622,995 68,285
= 8,640
= 206,048
Al 476,592
d2Y A4 &F 2 JIs2E 604,000 564,000 40,000
& 200,000
Al 404,000
206 =8l 4,000 4,000
01 =l 4,000 4,000
OZRY #=CHY AR 72
4,000,000& 4,000
405 KHHE S| 600,000 230,000 370,000
& 200,000
Al 400,000
01 ML SEFHSHI 600,000 230,000 370,000
OZ2Y HIE ¢ 200,000,000& 200,000
OF2L HIE NA(HIIT S)
400,000,000& 400,000
& 200,000
Al 200,000
LOISXAE JIs2dst 87,280 31,880 55,400
= 8,640
& 6,048
Al 72,52




SA: AR =X

A Lol SR B(MEISX/ = - HAE)
Rl ZSXIAIE Dl &3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 70,000 20,000 50,000
01 Al&H| 70,000 20,000 50,000
LA =235 EH 10,000,000 10,000
OL257% HHAEE 4X
60,000,000 60,000
402 2I2FXH=201H 17,280 11,880 5,400
= 8,640
= 6,048
Al 2,592
02 QI XHE AL E R (01X THE) 17,280 11,880 5,400
OLRdAd S SIIAE
17,280,002 17,280
2 8,640
= 6,048
Al 2,592
AN B2 F4 984,799 1,778,225 AT793,426
2 459,000
= 98,500
Al 427,29
SEEA 2l 29 328,799 341,225 N12,426
201 er=2 3| 111,683 196,410 N84, T2
01 AtR2t2|HI 69,900 76,998 27,008
OZALY 2 NLEE U HIZPY
200,000& +32 600
O=2Rd € &y d+J| ez
50,0002 x2CH+32 300
OTRRY MI|HYE 242
800,000 * 12 9,600
OHHZBARY o4x2B2| 242
750,000 * 122 9,000
Oztd & UIIEAL2] =45
5,500,000 *42] 22,000
O+=8 NAF B+ 89
20,000,000 20,000
O2AL L Y BLE 227 U=
150,000 x4 & »23] 1,200
O=oIg IV 2% 4,800
SDOIAYAIAE 2
900,000& *4=2 7| 3,600
oR01FH| CCTV AFZZ
300,000 427 1,200
ON&EHl &xt 600,000 432 2,400
2 352484l 41,783 119,412 NNT7,629
O=32=  HAl 11,700
oZAHEA Yot
300,000 32 900




2A:

Ar2l = X 2t

A Lol SR B (MEISX/ =0l - HAE)
Col: HAE HOSes x4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
czARY A M2
3,600,000 32 10,800
O32E& A=t 232 SUE
11,00021%32! 33
OZRAREY MBIC B34+42
200,000 +3& 600
Od =t 25,200
oZAEA e 400,000 *3 1,200
oSEE 2g HI(LPG)
2,000,000& 128 24,000
O=EXY =8 =Xl S
250,000 x3E 1CH 750
OAIE&Hl s8I 3,500
otEE AlE RAl2
1,500,000& 127 1,500
oZ3ER AL |X2el
2,000,000& 127 2,000
202 04l 1,400 1,600 A200
01 =LHA LI 1,400 1,600 A200
O=U0l 1,400
oHAER =& 100,000 x2& *72| 1,400
309 HES 140,516 140,516
01 SAL- SHBYHES 140,516 140,516
OAd2e|BHSRRY) MES 140,516
401 AlEHIZ SO 62,000 62,000
01 Al&HI 62,000 62,000
ORoME 8X L HE B
30,000,000& 30,000
O=IEZ KAl2el 2,500,000 x4= 7| 10,000
OSEEE ANE=E B+ 22,000
oSSR FHI(1001)
2,200,000& %1071 22,000
405 AHaHE = 13,200 13,200
01 ML ESF SHI 13,200 13,200
Og=0otRlet 88,0002 %1507 | 13,200
BHZAR F22 A5 656,000 0 656,000
= 459,000
= 98,500
Al 98,500
401 AIZHIZ R0 656,000 0 656,000
= 459,000
< 98,500
Al 98,500
01 Al&HI 656,000 0 656,000




SA: ASI=XID
A Lol SR B (MEISX/ =0l - HAE)
Col: HAE HOSes x4 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHHMZARA =22 &5
656,000,000& 656,000
= 459,000
[ 98,500
Al 98,500
04 2 28 =X ST(MIEX/ES - HELHA) 2,545,329 3,594,758 1,049,429
= 365,509
Jl 917,510
< 270,114
Al 992,196
=X MHlA 23 237,8%4 327,291 89,397
Il 73,706
=S 64,999
Al 99,190
2E30d ?= 304 304 0
301 EtE NS 304 304
02 ANRI2HHHS(HAAS, NLHE) 304 304
OREsSHd 735 304
SE=E] 8,000 2 +6 %6
olUl=H| 30,0002 «2&H 60
=Xl 74,0002 2% 148
=ZH0E SEUS 3,900 5,520 1,620
201 et 3| 1,500 2,000 A500
01 At22t2l] 1,500 2,000 A500
O4ti==01g, dE2IEEI WS
1,500,000 1,500
202 04l 2,400 3,520 AT1,120
01 =LHAHI 2,400 3,520 A1,120
Oola=R eexa
100,000 x2EH 22 +63 2,400
HdZS012A I I 10,800 9,600 1,200
301 EetE NS 10,800 9,600 1,200
02 NRI2HHSFS(HAAS, NLHE) 10,800 9,600 1,200
OZ&0I8X It ?IE 10,800,000& 10,800
U2 SNEFRSXE 15,600 8,880 6,720
& 3,120
Al 12,480
201 er23 | 15,600 8,880 6.720
= 3,120
Al 12,480
01 AtR2telHl 15,600 8,880 6,720
OZdtU=st sAlE+S K&
15,600,000 15,600




2A:

NEEV !
¥ old & 2] =X SAU(MA=X/ES - HEL0Y)
Cel: &SR MHIA 235t EEREE
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,120
Al 12,480
HEEHaEAs 2SR 146,710 141,280 5,430
Il 73,355
< 36,678
Al 36,677
307 lztol & 146,710 141,280 5,430
Il 73,355
== 36,678
Al 36,677
10 Al2ISTIAIEEE2HIE X 146,710 141,280 5,430
o= 2ETY
146,710,000 146,710
Il 73,355
== 36,678
Al 36,677
HEHASTANE2E X 18,380 17,764 616
= 3,676
Al 14,704
307 elztol & 18,380 17,764 616
= 3,676
Al 14,704
10 Al SAAEEHE 22X 18,380 17,764 616
Ol gAHASTAIE 2HXH
18,380,000 18,380
s 3,676
Al 14,704
JHE =3 Lokt 2=l K& 500 1,000 A500
Jl 350
=S 75
Al 75
307 21201 & 500 1,000 A500
Jl 350
= 75
Al 75
1 AMISXAIEEXS 500 1,000 A500
OJHE =4 Toi &t =4l 500,000 500
Il 350
= 75
Al 75
HE2Es NEA 41,700 121,900 80,200
=S 21,450
Al 20,250
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Ar2l = X 2t

I Ol 9 =S =X SASK/2S - ISU0A)
=@t el F==J3 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 340 340
01 Al Z2IH| 340 340
OLLBSIIZ289I2s e+l
70,0002 x4 13 280
OLHBSII22=9AAS BHeY HE S
60,0002 %12 60
A2 ASISXIAIE EAX EX=2(0HE) 32,280 29,880 2,400
< 6,456
Al 25,824
307 glztol & 32,280 29,880 2,400
= 6,45
Al 25,824
W EE N EEEEEEES 32,280 29,880 2,400
ONZ MEZTIAIE SAT ZXI42H(014)
32,280,000 32,280
= 6,456
Al 25,824
S AQIZAIE 29 1,980 0 1,980
< 990
Al 990
301 EtE NS 1,980 0 1,980
= 990
Al 990
14 IIEt2 83 1,980 0 1,980
OSS3ad SH¥HEE 84 AUZAH 2
g 1,980,000& 1,980
= 990
Al 990
2HE & 2,228,215 2,553,829 A325,614
= 365,509
) 843,805
& 197,669
Al 821,232
StR2I1E X2 10,800 9,600 1,200
301 LEtE NS 10,800 9,600 1,200
02 ARSI 2 X LGS (FHAAHS, NLWE) 10,800 9,600 1,200
OHAS 8225 92
30,0002 1809t 1*23] 10,800
SIREIIENA Ots2=Hl S XA 672,309 605,812 66,497
Il 537,841
= 67,234
Al 67,234
301 LEtE N = 672,309 605,812 66,497
Jl 537,841
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2A:
X XH -
o e

=aak

AFSI= X1
Ol U B =X
A2 X2

Ol

Z(MIIEX/E= -

A=
J
He
2
0x

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,500
=S 300
Al 1,200
01 Al E2E AL S(FRDEXH) 3,000 2,400 600
OEAERL Ots2=H| KA
3,000,000 3,000
= 1,500
= 300
Al 1,200
EHHAIDISHE 2EX& 469,240 351,760 117,480
Jl 234,620
= 46,924
Al 187,696
307 @120l & 469,240 351,760 117,480
Il 234,620
= 46,924
Al 187,696
10 Al SXAAEEHE 22X 469,240 351,760 117,480
OHZAIJIEAEH 23X
469,240,000 469,240
Il 234,620
= 46,924
Al 187,696
SSH0L=H 28X 56,712 0 56,712
= 28,356
= 14,178
Al 14,178
307 elztol & 56,712 0 56,712
= 28,356
< 14,178
Al 14,178
11 AMEISXAEEE 56,712 0 56,712
O=ss0tL=sH 28X
56,712,000& 56,712
= 28,356
< 14,178
Al 14,178
SIS 28X 214,100 700,000 485,900
201 er2&| 4,100 0 4,100
01 At2teltl 4,100 0 4,100
OJIB4H AL 23 900,000 900
OJIEHE R01BH| S|
3,200,000& 3,200
402 212+ X201 & 60,000 0 60,000




SA: MBS
¥ old & 2] =X SAU(MA=X/ES - HEL0Y)
&l H20HE XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 2IZHRAETAIHHI 60,000 0 60,000
OouZAg= 60,000,000 60,000
405 KHaHF S| 150,000 180,000
01 ML ESFSHI 150,000 150,000
OJIF4H BIE 7 150,000,000 150,000
CEsEXNE HEREs 28 820 820 0
201 et 3| 820 820
01 AtR2te|Hl 820 820
OtzaEd 292 A2
70,00021%524%23] 700
OU2EIIENR 2RSS0 M
S 60,000 *23] 120
CHEstE SatAY 130,244 179,918 A49,674
Jl 65,122
= 13,024
Al 52,098
307 elzto| & 130,244 179,918 AN49,674
Jl 65,122
< 13,024
Al 52,098
11 AMEISXIAEEES 130,244 179,918 N49,674
OU=2=tE d2us X2
40,054,000& 40,054
Jl 20,027
[ 4,005
Al 16,022
OZE0I2A SHANHIA NE
34,100,000& 34,100
Jl 17,050
< 3,410
Al 13,640
OU2EAE Ange A&
40,590,000 40,590
Jl 20,295
= 4,059
Al 16,236
OZ 021kt Hefdst Xd
15,500,000 15,500
Jl 7,750
= 1,550
Al 6,200
CrEshtE A F&td otsus X3 19,152 19,165 A13
= 3,830
Al 15,322




SA: MBS
M 0 2 B8 SX SE(AMI=SX/ES - IIELNHY)
&l H20HE XA (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 19,152 19,165 A13
& 3,830
Al 15,322
1 A= XA EE 19, 152 19,165 A13
OU2EDIE 81208 X
19,152,000& 19,152
T 3,830
Al 15,322
CE22tE L2 s SAF HRIAH] R 2,456 3,684 1,228
= 491
Al 1,965
307 2I2+01A 2,45 3,684 N1,228
& 491
Al 1,965
10 Al =S XA EEER2IHIE X 2,45% 3,684 1,228
OURet=E Ld2us KTAH MH&]
X3 2,456,000& 2,456
T 491
Al 1,965
CtE22tAtE 20t BANH=I| XI& 30,650 30,000 650
307 QIZt01 A 30,650 30,000 650
11 Al SXAMEE X 30,650 30,000 650
OG22t 20k & =D XI&A 30,650
Z20|2K A5 HEZ XA ALY 800 2,151 21,351
& 160
Al 640
307 212+01™ 800 2,151 1,351
& 160
Al 640
11 AL =SXAMEES 800 2,151 21,351
OZ 20|12k &5 HES AL
800,000& 800
T 160
Al 640
Z20|8I4 HYu=s K& 5,750 8,860 A3,110
307 212+01 A 5,750 8,860 23,110
11 AR SXAMEES 5,750 8,860 A3,110
OZ=0120X Hgu=s XA 5,750
220/ JSH2X 30,000 30,000
307 212+01™ 30,000 30,000
11 AL =SXAMEES 30,000 30,000
OZ&0I2X netgE K& 30,000
CtE220tE A A& 14,000 8,700 5,300




2A:
X XH -
o e

=aak

AFSI= X1
Ol U B =X
A2 X2

Ol

Z(MIIEX/E= - HEL0A)

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 5,800
Al 8,200
307 212+01 A 14,000 8,700 5,300
& 5,800
Al 8,200
11 AL =SXAMEES 14,000 8,700 5,300
OCH2et0tE oS eH0te AL
10,000,000& 10,000
T 5,000
Al 5,000
OHMIAHIIe] & SHAL 4,000,000 4,000
= 800
Al 3,200
Cl2shts o 20,000 0 20,000
& 4,000
Al 16,000
307 212+01™ 20,000 0 20,000
T 4,000
Al 16,000
11 Al =SXAMEES 20,000 0 20,000
Ot=st Osxls (=28 wa
20,000,000& 20,000
= 4,000
Al 16,000
o0lEs MulAa K& 479,504 514,366 234,862
= 335,653
= 28,770
Al 115,081
307 2I2+01A 479,504 514,366 234,862
= 335,653
T 28,770
Al 115,081
11 AMSISXIAEEX 479,504 514,366 234,862
Oolol=8 MBIA XA 479,504,000 479,504
= 335,653
& 28,770
Al 115,081
OlOIZ=E0l HME XI& 10,800 10,800 0
= 2,160
Al 8,640
307 2I2+01A 10,800 10,800 0
= 2,160
Al 8,640




SA: MBS
¥ old & 2] =X SAU(MA=X/ES - HEL0Y)
Chelr A2 K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 AlRISXIAIEEE 22X 10,800 10,800 0
OO0I0I=S=Z0I USHl Xs
10,800,000 10,800
= 2,160
Al 8,640
28 =X XN (Ma=X/ES - =L Y) 8,445,117 9,062,398 AB17,281
= 2,945,529
== 3,063,174
Al 2,446,414
EEAMUIA Het 8,435,157 9,001,082 A\565,925
= 2,945,529
= 3,063,174
Al 2,436,4%4
NLESHHARY 2 1,890 1,890
201 fer= 3| 1,890 1,890
01 At 2t 1,890 1,890
ONYLRTMS|AS HHLL
70,0002 x0H +33] 1,890
SIANESMAL nsH 11,000 19,000 28,000
201 er23| 1,000 1,000 0
01 At2tltl 1,000 1,000 0
OESAIE SAAF H=a3] BAg
500,000 »2H 1,000
301 EtE2 NS 10,000 18,000 28,000
11 #AIAHIXIZ S 10,000 18,000 28,000
OESAIE SAK Exu=
2,000,000& 2,000
SSAE BSAMA 35| &4
6.,000,000& 6,000
OZ& Ul StitsStal A B4
2,000,000 2,000
SEAMHIA Stat =8 3,600 4,224 N624
202 04| 3,600 4,224 N624
01 2LHA b 3,600 4,224 NG24
O0ts=A g% =8
100,000 «3& 22 +62] 3,600
0i2lold gstEdl= RIEAY 3,045 2,730 315
= 609
Al 2,436
307 elztol & 3,045 2,730 315
= 609
Al 2,436
1 AMISXAIEEXS 3,045 2,730 315




SA: ASI=XID
Mz gHg 21 N (AIE=2X/ES - IIEYLHA)
&l EsMHIA 235t (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OMASE Ols elold &&= XN
105, 000& *29H 3,045
& 609
Al 2,436
Helols S&EaA RIJAS 43,300 117,500 ANT74,200
c 8,660
Al 34,640
307 2I1Z2+0| & 43,300 117,500 NT74,200
= 8,660
Al 34,640
10 AISIEXIAIZBEE2IHIEX 43,300 117,500 AT74,200
OO0l Hitey| X
600,000 * 1800 2~ 10,800
& 2,400
Al 8,400
OFLEXL oy DMWFHl XIS 13002
12,700,000& 12,700
< 2,300
Al 10,400
OZ2Z2EHUEI0IE FHAIE o114d] A&
550,000 *3H A+ 12& 19,800
& 3,960
Al 15,840
Helold WA HLIMAXA 91,480 238,050 A 146,570
c 18,296
Al 73,184
307 2I1Z2H0| & 91,480 238,050 A 146,570
= 18,296
Al 73,184
10 AISISEXIAIEBEE2IHIEX 91,480 238,050 146,570
OFZL0IKE HE0ld ExWAF LIS
100,000 x22H 122 26,400
& 5,280
Al 21,120
O0glold E|nA HESH(228YH)
100,000 *191H *x23| 38,200
< 7,640
Al 30,560
OO0l ES WA E8EE
40,000& x50+ 122 26,880
& 5,376
Al 21,504
oelold 28X 57,720 53,200 4,520
= 28,860
& 14,430




SA: ASI=XID
M 2] =X XN (ME=X/E] - HELAHA)
&elr EFAHA 28t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 14,430
307 gl2tol & 57,720 53,200 4,520
= 28,860
= 14,430
Al 14,430
10 Al SXAAEEHE2EHI2x 57,720 53,200 4,520
OnMm7Hl XA (HAIE_NSKH)
8,000,000 8,000
= 4,000
= 2,000
Al 2,000
Oxtg=gdl K& 44,180,000 44,180
= 22,090
= 11,045
Al 11,045
Os0HELN geloelold N
5,540,000& 5,540
= 2,770
= 1,385
Al 1,385
PFuAA 28l X2 3,050,763 3,023,827 26,936
= 1,525,381
= 762,691
Al 762,691
307 elztol & 3,060,763 3,023,827 26,936
= 1,525,381
< 762,691
Al 762,691
10 Al SXAEEHE2EHI 22X 3,050,763 3,023,827 26,936
O=3&gge ooy /2l XI&
2,571,303,000& 2,571,303
= 1,285,651
[ 642,826
Al 642,826
Ogotdg oizlold el2dl XI&
479,460,000 479,460
= 239,730
< 119,865
Al 119,865
IRoIE=sE K& 1,485,972 1,781,800 A~295,828
= 965,882
< 260,045
Al 260,045
307 elztol & 1,485,972 1,781,800 295,828




2A:
X XH -
o e

=aak

Ar2l = X 2t

2= =X N2(AMIEX/E= - =

=

2sMHIA 25t

=

Ol

Al

0x

)

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 965,882
T 260,045
Al 260,045
10 Al = XA EHE2FHIE X 1,485,972 1,781,800 AN295,828
Ogxsot2sz KA 1,485,972,000& 1,485,972
= 965,882
& 260,045
Al 260,045
BRI HRMA X (=H) 324,767 311,183 13,584
= 162,383
& 81,192
Al 81,12
307 212+01™ 324,767 311,183 13,584
= 162,383
& 81,192
Al 81,192
10 Al =S XA EBEE2IHIE X 324,767 311,183 13,584
OQuUANZREZ &I 207,964,000& 207,964
= 103,982
= 51,991
Al 51,991
O=EEFLA EE2RY
116,803,000& 116,803
= 58,401
T 29,201
Al 29,201
elold 22X, HAIWAE XI&AF 478,047 466,247 11,800
= 239,023
= 119,512
Al 119,512
307 212+01 A 478,047 466,247 11,800
= 239,023
= 119,512
Al 119,512
10 IS SXAIEHE2ZHIEX 478,047 466,247 11,800
OBZXnAF XI& 472,164,000 472,164
= 236,082
T 118,041
Al 118,041
OUXM A XI& 5,883,000& 5,883
= 2,941
T 1,471
Al 1,471




SA ARSI

Hu: 28 =X N(ASISX/LS - HSU0IA)

&l EsMHIA 235t (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
FelE 222 X 1,691,260 2,315,983 NB24,723

= 1,691,260
307 21201 & 1,691,260 2,315,983 NB24,723
< 1,691,260
10 MEISXAIEHE2EHIEX 1,691,260 2,315,983 NB24,723
O=cltd 252 XN
1,691,260,000& 1,691,260
=S 1,691,260
0i2l0ld S2tAaldl X3 350,400 388,800 138,400
301 LeEN= 350,400 0 350,400
02 AR 2HASFS(HAAS, XLHE) 350,400 0 350,400
OO0glold S2tAl8l X
350,400,000 360,400
Oeloly Hutd A=Hl X 32,544 41,024 28,480
307 212t01& 32,544 41,024 A8,480
10 Al SXAIZEHE2EHI 2 X 32,544 41,024 28,480
Oogold &tz A=Hl X2
8,000&x1,017& 43| 32,544
AREH ESAMHIA X2 AHY 48,000 45,000 3,000
= 24,000
[ 12,000
Al 12,000
307 212t01™ 48,000 45,000 3,000
= 24,000
== 12,000
Al 12,000
10 Al SXAIEEHE2EHI2X 48,000 45,000 3,000
OAIZHN EFMEIA XIS ALS 48,000
o AZLHIES AHI A 48,000,000 48,000
= 24,000
== 12,000
Al 12,000
ogloly SHEEH SHore X 4,371 4,772 2401
= 874
Al 3,497
307 212t01™ 4,371 4,772 2401
= 874
Al 3,497
10 MEISXAIEHE2EHIE2X 4,371 4,772 A401
O0glold & SH S K&
4,371,000 4,371
== 874
Al 3,497




SA ARSI

M 25 =21 NA(MISX/2S - HEL0I)

e ;q/\-ltll* 25t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
223 RRRH= N 20,268 32,712 N12,444

= 6,080
Al 14,188
307 el2to| & 20,268 32,712 N12,444
= 6,080
Al 14,188
1 AMISXAIEEXS 20,268 32,712 A12,444
O=E=sg 2282 XY
20,268,000& 20,268
== 6.080
Al 14,188
OfglolE Z2AEXsOts A=2=208d] K& 17,920 20,000 22,080
307 212t01™ 17,920 20,000 22,080
1 ARISKIA 17,920 20,000 22,080
ZAHHOtS AISZ2 8| XA 17,920
oi2lold 22X dXtel X 112,200 132,000 19,800
= 22,440
Al 89,760
307 @I2to| & 112,200 132,000 19,800
== 22,440
Al 89,760
10 Al2ISTIAEEE2HIE X 112,200 132,000 19,800
ONgloly 2x01s dxte| X
550,000 x17E*12& 112,200
= 22,440
Al 89,760
=38 0gl0ld 2 X (AIHI) 160,768 160,768
307 el2to| & 160,768 160,768
10 Al SXAZEHE 22X 160,768 160,768
O8X ooy 28X 78,000
oHIINEO0IE 2 X (3MHA)
1,500, 0002 *3IH 2x*12 54,000
oHAINE0E 2SR (2HA)
1,000,000 «2I A+ 122 24,000
O=zE0e0ld &8+ I 82,768
gzZtgoielold =283 48,681 0 48,681
== 10,000
Al 38,681
307 212+01& 28,681 28,681
10 AlRISTIAEEE 22X 28,681 28,681
ORIRIDIEN0IE Xel& el2dl X
500, 0003 *x2)4 A+ 128 12,000
Ozt 0lE EANEs N
57,920 +24F 128 16,681




SA: AR =X

Zu: B5 =X K(MEISX/2S - HEU0A)
&elr EFAHA 28t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 20,000 0 20,000
= 10,000
Al 10,000
02 QI X2 AL E R (0IHTHR) 20,000 0 20,000
ogRbE00Id 817 20,000
= 10,000
Al 10,000
Olgloly Eolas+=E 62,161 0 62,161
307 212+01& 62,161 0 62,161
10 AlRISTIAEEE 22X 62,161 0 62,161
OO0l EsuAa &J25E
77,3143 +67 B+ 128 62,161
sty SEEsS| 262,200 0 262,200
307 212t01™ 262,200 0 262,200
10 Al SXAAEEHE 22X 262,200 0 262,200
OFcltdSEEsH N
50,0002 437 H*12& 262,200
338 0201 2SI (HEAT) 51,656 0 51,656
== 38,742
Al 12,914
307 212+01& 51,656 0 51,656
< 38,742
Al 12,914
10 Al2IS XA EEE 22X 51,656 0 51,656
OS&¥ 0elolE 28 X2
51,656,000& 51,656
= 38,742
Al 12,914
ool 238l s XN& 21,144 0 21,144
== 6,343
Al 14,801
307 212+01& 21,144 0 21,144
[ 6,343
Al 14,801
10 AlRISTIAIEEE 22X 21,144 0 21,144
O0ielols 2gdl & N&
21,144,000& 21,144
= 6,343
Al 14,801
SBIAE JIgEY 9,960 61,316 N\51,356
ooy XA 29 9,960 11,316 A1,356
201 fer= 3| 9,960 11,316 A1,356
02 s3=gHl 9,960 11,316 A1,3%




SA ARSI
Zu: B5 =X K/(MEISX/2S - IHEU0A)
Selr E]AI4 J1gtxd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OO0lelold Xt MIlg
40,0003 *50H A+ 128 2,400
O0el0IE Xt S AE=
35,0003 *18JH 2=+ 123 7,560
HAd B3 2 SH(MEISEX/Lel - ZAad) 1,007,051 2,067,473 1,060,422
= 16,500
Jl 281,296
= 77,827
Al 631,428
FadsdAE 29 2 123,976 1,025,839 /901,863
Il 41,988
= 20,000
Al 61,988
SSEAE FAEXEA BRI 83,976 80,688 3,288
) 41,988
Al 41,988
308 AXIHSOIA 83,976 80,688 3,288
Il 41,988
Al 41,988
13 S [2S0He & EAS A 83,976 80,688 3,288
OELYXISTAF BIXIXIR AL
83,976,000 83,976
Jl 41,988
Al 41,988
BAEsE2 52 ALY 40,000 0 40,000
= 20,000
Al 20,000
401 AIZHIX S0HH 40,000 0 40,000
=S 20,000
Al 20,000
01 A28l 40,000 0 40,000
OFad=g2 HES 40,000,000 40,000
< 20,000
Al 20,000
248 FA4dE |4 883,075 1,041,634 158,559
= 16,500
Jl 239,308
= 57,827
Al 569,440
dad g3 N 18,650 16,038 2,612
202 048l 1,000 1,408 408
01 2L AL 1,000 1,408 A408
OHAE =2XYD XX
100,000 x2&* 12 %53 1,000




SA: AR =X

Ha: HA

A 25 L SH(AMEX/ L0l - EAH)
el A% HAE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 17,650 13,630 4,020
04 CIZHHAMAIRH 2 & 17,650 13,630 4,020
Ostgt 24ad H=sizl 5,650,000& 5,650
OFAE RAHAEE 5,000
OHAE HHULES U A
5,000,000& 5,000
OHgY Fad =AM 2,000,000 2,000
ANSEHAHEHNHI|F 2 1,400 2,800 21,400
308 AHXIEMSOIH 1,400 2,800 21,400
18 SIS0t oA AS A 1,400 2,800 1,400
OXle HAAFOIARS 2
1,400,000& 1,400
SSTdAlE AU 28 3,000 6,000 3,000
308 AtXIEHMSOIE 3,000 6,000 A3,000
13 SI[2S0He & EAS A 3,000 6,000 23,000
OBBAEANE HLE2AAAS 2
3,000,000& 3,000
A4 s0iel K& 3,750 6,250 22,500
308 XXM SOIH 3,750 6,250 22,500
18 SIS0t oA AS A 3,750 6,250 2,500
O84AH S0t2l K& 3,750,000& 3,750
449 2U=0t001 2 197,466 305,149 /107,683
) 98,733
= 49,367
Al 49,366
308 AXIMSOIA 197,466 305,149 /107,683
Jl 98,733
[ 49,367
Al 49,366
18 SISOt EAS A 197,466 305, 149 /107,683
OFAE 2tS 03toiol 2g 2k
197,466,000 197,466
Jl 98,733
[ 49,367
Al 49,366
HadE SNS0HHI0l 2 (XA 110,822 0 110,822
308 AHXIEMSOIH 110,822 110,822
18 SIS0t & 110,822 110,822
OFad LU=0t7 [(XEAI)
110,822,000& 110,822
24 25 2 dEES 3,184 4,387 1,208
201 fer= 3| 2,184 3,387 1,208
01 AtR2t2|HI 2,184 3,387 A1,203




SR E S
M FAE B3 Y SH(MISK/ 20 - HAH)
el A% HAE =4 EEED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OEAE U5 2022 HXN
1,000 *5000HK 500
OEAES 2=z 6,700 *1050K 704
OnAE=TIAIAS BELL
70,0003 7 H+23] 980
301 LetENEZ 1,000 1,000
14 JIEt2 43 1,000 1,000
OBAE REHET DTS
1,000,000& 1,000
FAEHMY X 107,520 105,622 1,898
| 53,760
Al 53,760
308 AXIHMISOI & 107,520 105,622 1,898
| 53,760
Al 53,760
13 SISO E AR PE A 107,520 105,622 1,898
O EHHNY 2 107,520,000& 107,520
| 53,760
Al 53,760
FadE SUA IR0 29 35,302 33,584 1,718
| 17,651
Al 17,651
308 AXIHMSOIH 35,302 33,584 1,718
| 17,651
Al 17,651
13 BI 12 SOICHEHE A X LAE AL 35,302 33,584 1,718
OFAYE SEUHEZOH 29
35,302,000 35,302
| 17,651
Al 17,651
s g a4 XA %A, 161 92,077 2,084
| 65,914
Al 28,247
308 RXIHMSOIH 94,161 9,077 2,084
| 65,914
Al 28,247
13 BI 12 SOICHEH B A X LAE AL A, 161 92,077 2,084
Ostm 9 HAE XA (ME)
A,161,000& A, 161
| 65,914
Al 28,247
st g HAE X2 (S24]) 6,500 5,200 1,300
| 3,250
Al 3,250




SA: AR =X

¥ F2d 25 9 SFYM=N/2 - 34YH)
el A% HAE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 6,500 5,200 1,300
Jl 3,250
Al 3,250
18 SIS0t HAS A 6,500 5,200 1,300
Ostm % HAd XA (S4)
6,500,000& 6,500
Jl 3,250
Al 3,250
aad A2 X 33,000 31,000 2,000
= 16,500
= 3,300
Al 13,200
301 Eet2 NS 33,000 31,000 2,000
= 16,500
= 3,300
Al 13,200
01 Al EE AT S (2 RNEERA) 33,000 31,000 2,000
ONASE OIHELE BAAMSE T2
33,000,000& 33,000
= 16,500
= 3,300
Al 13,200
HaE A2 XA (KHA) 252,720 249,600 3,120
301 EtE NS 252,720 249,600 3,120
02 AR EE A S(FIANE, XETHE) 252,720 249,600 3,120
OMEHAE L CHIEIIE0L BAAMES
= K& 13,0003 *1,620F «12& 252,720
St St EAad AJHg B8 =Z2X& 10,200 10,200 0
= 4,080
Al 6.120
308 XXM SOIA 10,200 10,200 0
= 4,080
Al 6,120
183 S| 2SS AEAIE 10,200 10,200 0
Ostm 9 BAW Boal 25 X9
10,200,000 10,200
== 4,080
Al 6,120
A2 ARISXID[2 EAMI HLHESH(FHaE) 5,400 0 5,400
== 1,080
Al 4,320
308 XXM SOIA 5,400 0 5,400
= 1,080
Al 4,320




SR E S
M HaE 25 2 SH(AESX/2 - FAaE)
o9l A8 44 |4 (2l &R)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18 SI[2S0tet 4 A AS A 5,400 0 5,400
OFLHMESXHE SAL MM+
5,400,000& 5,400
= 1,080
Al 4,320
OIS EXISE(AEISX/HAHNEXR) 10,853,159 10,452,856 400,303
= 3,526,402
Il 33,460
= 3,296,572
Al 3,996,725
Ots=X AHIA 23t 7,376,322 7,166,039 210,283
= 2,601,521
Jl 33,460
s 2,655,715
Al 2,085,626
ors?ds 29 1,120 1,730 2610
201 =3 1,120 1,730 A610
01 At22t2l] 1,120 1,730 2610
OotsSI~(8A3l) FReg
70,0002 * 16 *12] 1,120
020l JIS AL 33,000 33,000 0
201 er23| 3,000 3,000
01 At2teltl 3,000 3,000
O0ielolg JISdlAL =58 Xtz 3,000
307 @20l & 30,000 30,000
1 AMISXAIEEX 30,000 30,000
OO0glole JIS &AL 30,000
IS 0ts 2= 210,000 234,000 24,000
301 22N = 210,000 234,000 24,000
02 MBI 2HHSFHS(HAANS, KLHE) 210,000 234,000 24,000
OJgA50S d=AH
210,000,000 210,000
gty SIS Al X3 AL 2,200 2,200 0
) 1,540
< 132
Al 528
301 EtE NS 2,200 2,200 0
Jl 1,540
== 132
Al 528
01 AR 2EHSHS(RNEXRTHE) 2,200 2,200 0
Oer U JIESIE0IE HR2IXIR XIE
2,200,000 2,200




SA: ABI=XID
M OISSXNEA(MEIEX/FHAHEXH)
cl: OFSSX MblA 25t (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,540
=S 132
Al 528
gdots d=+g 33,600 55,200 A21,600
7l 23,520
S 2,016
Al 8,064
301 Eet2 NS 33,600 55,200 /21,600
Il 23,520
= 2,016
Al 8,064
01 Al EE A S (2 RDEERA) 33,600 55,200 A21,600
OYY0LE YRAY X2
200,000 x14H 122 33,600
Il 23,520
= 2,016
Al 8,064
lEedssg A3 43,754 122,537 NT8,783
= 28,440
= 7,657
Al 7,657
301 EtE N = 43,754 122,537 A\T8,783
= 28,440
S 7,657
Al 7,657
01 Al EEATZ(2DEZMR) 43,754 122,537 NT8,783
Otged=s+4 Xa 43,754,000 43,754
= 28,440
& 7,657
Al 7,657
2S0ts Moty X2 76,760 79,360 22,600
= 15,352
Al 61,408
301 EtE N = 76,760 79,360 /2,600
= 15,352
Al 61,408
02 A EEHS(FANE, XLETHE) 76,760 79,360 A2,600
Ogd8&=s 10,000, 000& 2 20,000
== 4,000
Al 16,000
OsEHe] 32,760,000 32,760
= 6,552
Al 26,208




SA: ABI=XID
M OISSXNEA(MEIEX/FHAHEXH)
cl: OFSSX MblA 25t (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Olsrdaotds 250,0002 x 128 +8& 24,000
= 4,800
Al 19,200
2SER0ISME+EAE 114,000 124,800 10,800
= 91,200
= 4,560
Al 18,240
301 EtE N = 114,000 124,800 10,800
= 91,200
< 4,560
Al 18,240
01 AR 2EHSHS(RNEERTHE) 114,000 124,800 10,800
OESE=0ts Ne+=EAH
114,000,000& 114,000
= 91,200
< 4,560
Al 18,240
OtSZEXIAAZH(COA) HE XIS 219,8%6 106,095 113,841
= 153,927
[ 13,194
Al 52,775
301 LELEN S 219,8%6 106,055 113,841
= 153,927
s 13,194
Al 52,775
01 Al 2E AL S(FREXME) 219,8%6 106,095 113,841
OOLSLE I AIZHCDA) X2
219,8%,000& 219,8%
= 183,927
=S 13,194
Al 52,775
AT sopI2+g K& 3,000,000 3,517,000 A517,000
< 2,100,000
Al 900,000
301 EtE NS 3,000,000 3,517,000 A517,000
= 2,100,000
Al 900,000
01 Al EE A2 (2RNEXMR) 3,000,000 3,517,000 A517,000
OFAT oD+ X2
3,000,000,000& 3,000,000
=S 2,100,000
Al 900,000
Ols+=4 XA 1,469,334 1,644,234 A174,900
= 1,028,534




SA: ABI=XID
M OISSXNEA(MEIEX/FHAHEXH)
cl: OFSSX MblA 25t (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 132,240
Al 308,560
301 EtE NS 1,469,334 1,644,234 A174,900
= 1,028,534
== 132,240
Al 308,560
01 AR 2EHSHS(RNEXRTH) 1,469,334 1,644,234 A174,900
Oots=g S0 1,469,334,000& 1,469,334
= 1,028,534
=S 132,240
Al 308,560
A2 B2 2 100,000 100,000 0
307 212+01& 100,000 100,000
05 2IZtAE = 100,000 100,000
O TAZ 282
100,000,000 100,000
012l0l et W= 1,550 1,550
201 eer23| 1,550 1,550
01 AtR2t2|HI 1,550 1,580
O0glol et s =22 M=
5002 +3, 100 1,550
S50 (Hot=g) XA 1,999,108 1,129,673 869,435
= 1,299,420
= 349,844
Al 349,844
301 EtE NS 1,999,108 1,129,673 869,435
= 1,299,420
= 349,844
Al 349,844
01 Al EE A S (2 DEXR) 1,999,108 1,129,673 869,435
OR2Z0(Z0t=+¢) =0
1,999, 108,000 1,999,108
= 1,299,420
= 349,844
Al 349,844
H2IHE R 820ls 23H| XZAHY 12,000 12,000 0
Il 8,400
= 720
Al 2,880
301 EtE N = 12,000 12,000 0
) 8,400
= 720
Al 2,880




2A:

X XH -
o=

Ar2l = X 2t
OIS =X (AEI=XI/FHAHEXR)

cl: OFSSX MblA 25t (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
INEEEEEEIEREE 2,000 2,000 0
ORI HR0IS2 S|
12,000,000 12,000
Jl 8,400
== 720
Al 2,880
ot A2 c|2Ed 60,000 0 60,000
= 30,000
Al 30,000
402 2IZtA=01d 60,000 0 60,000
= 30,000
Al 30,000
02 BIENZASEZ (01 THR) 60,000 0 60,000
OFt2d T2 |22 60,000
== 30,000
Al 30,000
FAAHS Ols SSAE 3,476,837 3,286,817 190,020
= 924,881
== 640,857
Al 1,911,090
Ots SEMHIA XI&(XHA) 25,000 25,000 0
201 2= 25,000 25,000
03 A2 I 25,000 25,000
OotsZ A= 25,000,000 25,000
Ols SEAdIA X 186,810 191,710 24,900
= 149,448
[ 11,209
Al 26,153
201 el 94,410 9,810 A2,400
= 75,528
s 5,665
Al 13,217
01 At22t2l] 18,600 21,000 2,400
OdlEe 2l 2,000,000 2,000
= 1,600
= 120
Al 280
OAI2ESHI 2,000,000 2,000
= 1,600
= 120
Al 280
OAlIZt2lg 41| 2,000,000& 2,000
= 1,600




2A:

Ar2l = X 2t

. OISESXNSE (AR SX/FASHSIIA)
gelr FHAAS Ols SSXE (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 120
Al 280
QAR+ MdZu=H| 3,000,000& 3,000
= 2,400
= 180
Al 420
OOts=EXD |28 o+
3,000,000& 3,000
= 2,400
= 180
Al 420
OsgsIAs Haag
70,0003 *10E*13] 700
= 560
& 42
Al 98
O&2IOt & #FHUIOINH ZAE
375,000& 18 %43 1,500
= 1,200
= 0
Al 210
OEEAEE 8| 3,000,000& 3,000
= 2,400
& 180
Al 420
OSEEEAIAH RXE=H|
1,400,000& 1,400
= 1,120
= 84
Al 1%
2 SE=29| 3,000 3,000 0
O3s22 ¥ HA 1,000,000& 1,000
= 800
= 60
Al 140
OXtetsXl2eldl 2,000,000& 2,000
= 1,600
& 120
Al 280
03 AL2 G| 72,810 72,810 0
OJIEMET2O#OI=HI)
8,000,000& 8,000
= 6,400
= 480




FA ARSI
M OISSXNEA(MEIEX/FHAHEXH)
@2l FHAANS Ots SsSKE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,120
OSsMET2 08 (Katd, Dahd, Zei2y
o) 26,000,000 26,000
= 20,800
= 1,560
Al 3,640
O gl A 33,010,000& 33,010
= 26,408
= 1,981
Al 4,621
OFYEE 5,800,000& 5,800
= 4,640
= 348
Al 812
202 04| 9,500 12,000 2,500
= 7,600
= 570
Al 1,330
01 2L AL 9,500 12,000 22,500
ONS &M U CHAEE g2
2,000,000% 2,000
= 1,600
= 120
Al 280
OOtSSE At 22l AF =04
7,500,000& 7,500
= 6,000
= 450
Al 1,050
301 LEtE NS 77,600 77,600 0
= 62,080
= 4,6%
Al 10,864
01 Al EE A S (2 RDEXA) 68,000 68,000 0
Oltsstsld & FAMXE
66,000,000 66,000
= 52,800
= 3,960
Al 9,240
OFJI0ts SEAEIA 2,000,000& 2,000
= 1,600
= 120
Al 280
11 #AIAHIXIE S 9,600 9,600 0




SA: ABI=XID
M OISSXNEA(MEIEX/FHAHEXH)
@2l FHAANS Ots SsSKE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
@)= EX= = 8,000,000& 8,000
= 6,400
== 480
Al 1,120
O91213] Y XA X
8,000 x50 #4353 1,600
= 1,280
[ %6
Al 224
307 elztol & 5,300 5,300 0
= 4,240
< 318
Al 742
0122 & 3=l 5,300 5,300 0
OugaEs 50,0002 x30H 1,500
= 1,200
== 0
Al 210
Oeta X 50,0003 *40H 2,000
= 1,600
s 120
Al 280
OO0ts A3 X& 100,000 18 1,800
= 1,440
=S 108
Al 252
AgotsdE 24l X 201,192 201,192 0
= 100,59%
=S 50,298
Al 50,298
307 @I2t01 & 201,192 201,192 0
= 100,59
= 50,298
Al 50,298
10 AlISXAAEEHE 22X 201,192 201,192 0
OJl2&2gdl XI& 187,392,000 187,392
= 93,696
= 46,848
Al 46,848
O=Jt2gdl XI& 13,800,000 13,800
= 6,900
= 3,450
Al 3,450




SA: ABI=XID

M OISSXNEA(MEIEX/FHAHEXH)

@2l FHAANS Ots SsSKE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
KS0tsHE 2lAH| K& 1,065,149 929,664 135,485

= 532,575
== 266,287
Al 266,287
307 212+01& 1,065,149 929,664 135,485
= 532,575
=S 266,287
Al 266,287
10 Al SXA2EE 22X 1,065,149 929,664 135,485
OXY0otsHy 124l K&
1,065, 149,000 1,065,149
= 532,575
S 266,287
Al 266,287
NS 0tsHE =otE2ddl XI& 400,09 357,551 42,545
[ 101,019
Al 299,077
307 glztol & 330,096 297,551 32,545
= 66,019
Al 264,077
10 Al SXAIEEHE2EHI2x 330,096 297,551 32,545
Ol =0t K& 282,600,000 282,600
= 56,520
Al 226,080
O2gHl =t X2 20,496,000& 20,49
== 4,099
Al 16,397
OsA 20l K& 27,000,000 27,000
= 5,400
Al 21,600
402 2IZtA=01d 70,000 60,000 10,000
= 35,000
Al 35,000
02 RIENZASEZ(0IETHR) 70,000 60,000 10,000
OXlgotsHH JIs2d A&
70,000,000 70,000
[ 35,000
Al 35,000
NSotsSHE 28 243 N2 261,099 213,816 47,283
201 Ler23| 7,880 8,480 2600
01 At2teltl 5,880 5,880 0
OXIAOISHE et
30,0003 %122/ %1300 A 4,680




SA: ABI=XID
M OISSXNEA(MEIEX/FHAHEXH)
2o FHAAS Ot =X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ28gd XdotsHlEe 22| 1,200
2 s5=34l 2,000 2,600 2600
O3EE NGotsHt 33=ghl 2,000
307 @I2t0| & 253,219 203,936 49,283
10 Al SXA2EE 22X 253,219 203,936 49,283
OFIH2SHI(HHAIH]) X2 253,219
CHENSsHE 2124l XI& 146,000 142,968 3,032
= 73,000
=S 36,500
Al 36,500
307 @I2to| & 146,000 142,968 3,032
= 73,000
= 36,500
Al 36,500
10 AlISXAAEEHE 22X 146,000 142,968 3,032
Oglzdl X 146,000,000 146,000
= 73,000
= 36,500
Al 36,500
CreNEsde 238 N3 161,960 82,226 79,734
= 12,000
= 6,000
Al 143,960
307 elztol & 161,960 82,226 79,734
= 12,000
< 6,000
Al 143,960
10 Al SXAEEHE2EHI 22X 161,960 82,226 79,734
2g4l X& 24,000
= 12,000
== 6.000
Al 6,000
O=Jt=gdl N& 137,960
Cienssde X 10,000 0 10,000
= 5,000
Al 5,000
307 gl2to| & 10,000 0 10,000
=S 5,000
Al 5,000
10 Al SXAEEE 22X 10,000 0 10,000
OtEgN=s8H 238 =0t
10,000,000 10,000
< 5,000




SA: ABI=XID
M OISSXNEA(MEIEX/FHAHEXH)
2o FHAAS Ot =X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 5,000
ANEs=g2s 24 2,200 3,800 1,600
201 et 3| 2,200 3,800 1,600
01 At22t2l] 2,200 3,800 21,600
OXSE=s82sle HAH
70,000 *10E*12] 700
OZE= M 1,500,000& 1,500
240t S 593,550 525,600 67,950
301 EtE N = 593,550 525,600 67,950
02 MR 2HHLFS(HAAS, XNLHE) 593,550 525,600 67,950
OZA0ts SAXIE 583,550,000 503,550
orsa4a A& 190,585 234,100 A\43,515
< 111,205
Al 79,380
201 =3 500 1,100 A600
01 At22telt] 500 1,100 A600
Oots=4?Ade 29 500
301 LEtE NS 190,085 233,000 N42,915
= 111,205
Al 78,880
02 AR 2HASFS(HAAS, XLHE) 190,085 233,000 A42,915
OgstE 34 X9 98,600
=S 19,720
Al 78,880
Oosls Eds85d 24 X& 91,485
< 91,485
OrS=XIAIE XI& 3,400 3,800 2400
301 Eet2 NS 3,400 3,800 A400
02 ANRI2HHSFS(HAAS, NLHE) 3,400 0 3,400
O0ts=XAL(AES) 7=
300,0003 *1JH 2x23] 600
OOts=XAIE(RIH0otsHH) 912
100,000 * 140 A +23] 2,800
22s0ts 188 25 298 XN& 123,156 204,030 A\80,874
= 49,262
= 36,947
Al 36,947
307 elztol & 123,156 204,030 /80,874
= 49,262
[ 36,947
Al 36,947
10 AlRISTIAIEEE 22X 123,156 204,030 /80,874




2A:

Ar2l = X 2t

M OISSXNEA(MEIEX/FHAHEXH)
@2l FHAANS Ots SsSKE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORE50ls 188 2529% XA(2214l)
123,156,000& 123,156
= 49,262
[ 36,947
Al 36,947
188 21l 252 K& 3,000 49,000 246,000
= 600
Al 2,400
307 el2to| & 3,000 49,000 /46,000
= 600
Al 2,400
10 AlRISXAZEE 22X 3,000 49,000 A\46,000
OO8e oAl 258 N
3,000,000& 3,000
& 600
Al 2,400
Otsstly moiots 25 11,000 16,760 Ab,760
= 8,000
S 600
Al 2,400
201 Ler23 | 4,000 6,500 A2,500
= 3,200
=S 240
Al 560
01 AtR2te|Hl 4,000 6,500 22,500
OOt=stth XI# 25t 4,000,000 4,000
= 3,200
= 240
Al 560
202 04| 2,000 2,760 AT60
= 800
S 60
Al 1,140
01 2L AL 2,000 2,760 AT60
O0ls2s dER3 & 0l
20,0002 *502] 1,000
= 800
&< 60
Al 140
OltsE= dged & 04
100,000 2 +53] 1,000
301 LEIE NS 2,500 3,750 A1,250
= 2,000
s 150




SA: AR =X

M OISSXNEA(MEIEX/FHAHEXH)
2o FHAAS Ot =X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 350
01 Al EE A S (2 RDEEMA) 2,500 3,750 1,250
Ootsstt X2zt 2,500,000 2,500
= 2,000
= 150
Al 350
307 @20l & 2,500 3,750 1,250
= 2,000
= 150
Al 350
01 2g & 3=H| 2,500 3,750 1,250
OEBHA OIS 228 ¥ 224
2,500,000 2,500
= 2,000
= 150
Al 350
orssitioeg & 2 BHe 235 A& 4,720 5,080 2360
201 er23| 3,000 3,000 0
01 AtR2t2|HI 3,000 3,000 0
O0ts2td UsHIE 150,000 *23] 300
Ootsstio e BHel =
2,700,000 2,700
202 04l 1,400 1,760 A360
01 2LHoIH 1,400 1,760 A360
OOIS8 Y2EX
100,000 x2& +73] 1,400
301 EetE2 NS 320 320
11 #AIAHIXIE S 320 320
OOtSstt ZHe! 25 SAHL Al
8,000& »23| x20H 320
OlS, AHE=HAIE SALA =X+=E 75,960 66,360 9,600
& 15,192
Al 60,768
307 elztol & 75,960 66,360 9,600
= 15,192
Al 60,768
10 Al SAAEEHE 22X 75,960 66,360 9,600
OO0ts, AHEAIE SALL SXI+¢
75,960,000 75,960
=S 156,192
Al 60,768
KG0otsdE MEAE 11,960 12,880 A920
307 lztol & 11,960 12,880 A920
11 AMEISXAEEES 11,960 12,880 2920




A AMEIS X
2 ols=Xsd ( § EX/HAAHSKE)
&l FHAANE Ols SsSKA (CH9: &S1)

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

SHEH SAL |35 3,960
cl I 8,000,000 8,000

Y2 A HHI(AFZIZ XD (DIEHDIE 596,933 713,409 116,476
229,241
60,518
307,174

Mo

=

re
Ju
H0
02

a] 563,973 680,097 A116,124
229,241
60,518
274,214

Mho

=

QA2 AHI(EHAEE) 143,982 185,750 AN41,768
73,891
5,542
64,549

o

=

101 e124d| 143,982 185,750 N41,768
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